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30197631 fdmnB 44 ecu< urnrtr 2500 25,0 10
37821150 Vrurlhdhhn cnu< bq 900 18,0 2C
30192114 Burhurp, 2uruntq h, purn&ht h Fnu< hruur 250 0.5 z
30197121 trndqurd hnburBtur FCU< rnnr-rlr/S0h./ 150 0,75 E

30197231 BnrauruturhurL ulnt.raurnuhra. $urrt ceu< hurur 15 1,5 100
39263200 $nuruhhturt urrhtr qhnp, ilunnrurh 30u< hunn 800 0,8 1

3019212a Uunb hntrhrr/qnurururhrnruh tr/ FOU< hruur 400 2,4 6
30197232 fdnnuruurhurL urnurqurturn ft'n nrrlu cou< huru 100 1,0 10
3983600C udhr Fnu< hurr.n 750 10.50 14
39831245 Odurn hhnmt F0u< hurn 500 1.5 3
39831276 9ntcurnluhh tlurpnu lrrmrahn FOU< hurur 1000 7,0 7
39831283 hunnurth trlurqdurh turrd Fnu< hurur 500 6,0 12
22458001 Ururh hnurhhpft u1 ur1ilurlnuchn F0u< hurur 15C 6.5 45
22458002 Uzurb hnurhhnh rutr&trurh urh qnnb FCU< RUltn 30c 9.0 30
22458003 Upurur4uruurnurhurthh hurrrlunrlurh ilururrurtr ccu< hunn 1 00c 1.C 1

22458004 futipurth rlururturh FCU< huru 120C 2,2 2
22458005 Furq BnnilqE durtlhnh rfunnrurh Feu< hurur 1000 1.C 1

22458006 tlurl ilurhurg hp. nrumo h)hhnh Fnu< hurur 140 0,7 5
2245807 U2fu unnna hhnh urtr&huh rutr cnnb FOU< hurtn 300 1,5 5
2245808 Upd,urhurqpmpJmh, qmqurll FCU< hurur 100 3.1 31

uLLrluuobr€
15811120 Zurg c2 bq 350 395,5 1 13C
15851 100 Uurhurnnh CZ hc 350 47.2 135
0321 1300 Fnhtr& CZ hq 430 61.0 142
15616000 ZL+tt urd,ur{ urdqnhtt ui -t bq 800 156.0 195
15331 153 ouq -, bq 800 106.2 133
1541220C FnturuLurtr tnr-n UL rhun 800 129,2 162
1511215C Zunlh dhu urilrnrqurLurh UL hc 1400 266,0 190
1511112C Sudunh rlhu urhntuhurh rhunhmh CZ uq 3200 345,4 108
1531300C 9urpun$fr1 c2 rtq 160 61,0 384
15811120 Zurg \JL rlq 325 370.5 1140
15851 100 Uurhurnntr CZ rtq 330 41,9 127
0321 1300 trnhld CZ uq 400 55,2 138
15616000 ZI4t ur&urq urn/qnhlt ur/ C2 qq 75C 142.5 190



/ 15331153 Our:l cz hq 750 95,2 127
15412200 Fntuurlurh 1nul CZ hurn 700 96.6 138
15112150 Zurtlh rlhu urilpnlqurbuh CZ rlg 1350 256.5 190
15111120 Su{urpf dhu uburturh rhurftnr_b GZ tlg 3000 306,0 102
15313000 9upun$h cz hq 160 60,9 381
15333100 rnnrlunnlr rlurEmll UL bq 840 42.8 51
15512000 pp{uruhp uhqurlurh 32 hq 1050 53,4 51

ounuSnhr€nhL
65310000 [1 hl4urprulurhmBturtr purt]unttf FCU< +nuril 1 100000 1100,0 1
651 1 1000 Iutthlm gplr pur2]umrl FOU< nnuril 10000c 100.0 1
65210000 *urqf pru2]umil c0u< nnurd 320000c 3200.c 1
65200000 qurqlr urtlu, uuluruurplnr-rf,hnrhq.urtnlur. FOU< rlnuril 150000 150,C 1
50313200 TlururdhtrurhurLnl uurnphnh ul urhrurutnlurtr Feu< nnuril 80000 80.0 1
50312000 Zunfur\urpqyurl|rh urupphnh uurhur.burnurr Fnu< nnuril 15000 15.0 1
30121370 9\rrlur!ur1mh. lurpuurtrhnh u urhw.burn. F0u< nnrutl 105000 105.0 1
64211100 lbaurlunuurlfrh burnurlmplmh FCU< nnuril 79600 79.6 1

641 1 1000
$nuuuqFu oun. qurqquld UturqphFF L1

qurpphpurllurh tfuninr-1 |r hhur FOU< nnuril 10400 10,4 1

90500000
4trnuruFqug1ru{F lr purgnhUhpfr hhu lluq{uE
burnurlmplnr-tr Feu< nnrurl 50000 50.0 1

99000000 Lnr-tf thurfuh,t-gnq burhuhn urrluunnunlurnd. c0u< nnurtl 6283050C 62830.5 1
enphnh 2pgurhurnnr- gnh4 ccu< nnuril 120500 120.5 1
IL.IUUbLC 71030,0


